@& YAMAHA

U-BRACKET

SPEAKER BRACKET / SUPPORT D'ENCEINTE / SOPORTE DE ALTAVOZ E

KPEMJIEHUE ANA AKYCTUYECKOW CUCTEMbI ,
BREER/RAE-HN—T3rv bk

UB-DXRDHR12 i
UB-DXRDHR10

IS

Franca

Portugués

Owner’s Manual
Benutzerhandbuch

Mode d’emploi

Manual de instrucciones
Manual do Proprietario
Manuale di istruzioni
PykoBoAcTBO nosnb3oBaTernA
fERRAE

{EFEREAE

AlZ AEN

HiREHEAE

o
-

2= —
HEEHHEEEHEEHA
eh=301

(3
>



A T 38 AL A B e 40
OF O AFEE e 38 SPECHfiCAtioNS (AFZE) .ot 46
T R A e, 39 DIMENSIONS (TFZ ) e 47
AR A A 2 e 39

A0

Yamaha UB-DXRDHR12 EE= UB-DXRDHR10 U EH2l{{ 212 FFOHSH =M Al ZEAFREL T,

= M &2 Chg Yamaha *LL|5’1 dxg8o= AA = Bl 2L

UB-DXRDHR12- DXR12, DHR12, CHR12
UB-DXRDHR10: DXR10, DHR10, CHR10

_%_.*;%'HE 22| §EAL O He 2l S AFE B ALHE HO L HY0f| S22 W AL[FH0 He2fZlS &
2toh= Aol ool e o
= HSS AFESH| d0f| 2 2B ME SASHHAIL. 2 B Ms UHS0lE 408 = UAEE 7H7HE 20
HASHHAI L.
2 AHMOA = DXR12 2 DXR10 AD|HE “DXR”, DHR12 2 DHR10 ALo|AH &= “DHR” 22|17 CHR12 2! CHR10 AL 7= “CHR” 2 A 2 &L Ct.
Ot FolArgt PA_ko_14
21A57] Z0fl HEEA] S0 FHA|L
LIZ0| 208 4 UES 2 MHAS oHH 3 0| 2ASHIAIL
An “LOS ETE ARSO HES AL .

-SE,E, 9H4S 0| 8510] M5t AN BEAIX o
M, 5|2 T, A4 S EE JIE Y HOR IS M2 E2 TS| 20) 2HNQ.
SAEE ANLO| MK O EE Of2f WHE J|E RO A - AT 2 L BHS 27| HOf A BT LEALS B
S BIEA| MEAAIQ . 0]2{ 8 20| AR 0| = C}2 0] Z 8t E|%| RO A 200 B0 22 £ 5o OhA
oF 0] off 2 5HE| 2| & t&LICt: 2.

nx
ox

MR M2I5H2 QOB AL, B4 B &4 s QFE0|
U N SrAst 4 Q&L of
- 0| MBI BAAS £ 0 R A = -
25} 7L} 2| H I H| A S5 AR S} - 2HE2 00| &0 FA Y= 20 FHAR .2 HEZ2 O
2 OFAAIQ 122|900 AT 20017 US TH5 40| QU= HAM AHBSH |0 2{F5H2| o
22 Qls) Bayzl0] TR £ 9 uu.
&UC. CEAN JALL RO Ul B HEE 4 QL HAN AE
¢ SEIE= 7102 A HE R U2 ALH E HES ALSHA| OF % FA DhHAIR . O Ao EF 250 &40 ALl
MAIQ I AP R ES A0 LS & Q&L 7t HOIA £ AUBLICE,
_ 2| AF Z 0
JHZ5HA| DA Al a4 39
- 3 2 Z0| B3 BIS J4GHA OHYAIL . DA O EH B
Zo = Al 2 A HAL S AAMQ| HHAYSE = _ = =
A NESINEAe AR AT SO RE S0 28T Fol Bso] Aj77t Boj 4 At
T Mg
mEASHEAN
C 2 ASMBAMO £2H 1S MY R0 AISEH T
A F9 2 ALS YA 7| E SAI B M EHE 2 SIAtC| A E &
_ _ L s2 MEYUL
st EE O A 0| 242 Y2 THS A2 WAIsH| sl
A oraﬂ Ll 7|2 ZOASE IR NAQ . 023 2ONE = )
Ol CHE Ol EBEIAE o0 FBEAE SaLic: C 2 E0ls MBI IHSE P RE0| TBEO AL LT
7 2HES HIIE O ST 2o Yol Aot AR
[=(=]
5t 42 B4 0l Yamaha MH| A Ehet

FHE S0 BAYL LT

A0 A S2SHTD CHS AR S EATHIAIR.

B RHS AT S U FH SHEYOI Y M AXS
MESHYAI 2 .

SO S0 L BEIE FAS LS.

38 | UB-DXRDHR12 UB-DXRDHR10 AFEAEH A



o 7|2 o

® Hz| 3l 274 oRE W3 o ALEHEAN
0 Z 274 A2 (2 Y2t
FOR FOR FOR
DXR&DHR DXR DHR
T M ’
A8 21 AT712) 0| 20| BAIE 2 MEHFLICE

AL
CHRS| Z2, “FORDHR” & A1 &St LIC}.

FOR DXR & DHR FOR DXR FOR DHR (CHR)

M5x 10 LEAF =2t OFA &l A M5x 16 LIAF S8 Qb 2 A
DY AN 400 2 o oM 200 =

M8 A tM 274 M8 %25

M8 22 otA 27 12 AHO|A
Q (@50 mm, 10 mm S 7)) 274

Ho
N
il
|m
i

19 ATO|AM
(@50 mm. 18 mm E ) 271 a

HFCSHEH 1 74 BFEFTH 1R

ATO|A, 3.2mm &7 274
DXR108 °  Tr~—_ \
Sy s I TeT

DXR12:8
)

BefZls HEUOILF HYof| 25| et R 2, 2E R V(B YF2 2O UA UL AHEE R ZAEEZE2=ER
H27H0AH 228t HAIL.

r\l
|
=og
K=

]
L
_II'.

nx
0
K
re
mjo
Aok
nx
o
o
[ru
rr
oM
4o
r
Ho
N

29|
A 43 BHS ANFGUBHU Z EHE AT 4 US YER 325 A
WA BUSHUAL. U EHY S0l SAOUHE U ARG R DML
13 202 ALFT HO|AA LES A of
AAI2. 97 S100|S AHAIHEI% 4 SEDI of0l HEE U SHUS MBLIAL 3t AT
ol S5 g (22) 2 29 A (1 2) 00 51 01| #E8 M10 LHA & (DXR1O 9
< M8) of #a5t4 A2 .DHR Y CHR 9 ,30~50 mm Z 0| 2| OI0] EEE A8
AL .
< {0 O 20|0IE MT F ATNS LGN Y ATHO| 0|0 I WL
£ MABHUML . 20107} {2 2o AT|Z 7 oY 4 U Z o40|0j7} A5t
E4E0 BOIY 4 YBLIL

0F
N
Rl
i
=t
ol

N FRB PO BE EE M ¥ROE

nE

M5t= T L A5 o Cial Yamaha= Y S 2| A ¥&LIC.

UB-DXRDHR12 UB-DXRDHR10 AF2 A A | 39



22 A3

In = H 2 A | L AT MZ2|SF A OlA - = — -
ADAHE HO|L HE0 2 £z +EO 2 A £ UASL 4., of2f 12T 20| AL|F DO ZEE HES AR50
A ATIFAE U B 20| R 23R

zol
L X258t 2E AR QLK =y
A U 2313 A7 Aol £7F2f0] 70|X % ES Folat DXR oy CEA RS MEARS A NEE
HNS
x5587 2E M8 AZY 9tA, M8 22
DHR, CHR ’\Q/lg 55T'|' = s M8 I' 1, M8 =
A

=
(DHR, CHR 01| 38} ) AT 0| N 2 2|3t LEAHS BAEI2 2 2
BOHAIQ . LIALS M43t HEE ALAHE ALS Y 2 LiAF 80| A M DXR
7] 8| W L EE 2S5t 37|17t =20l et S 2o 24| %2 AT Y20 Y= BE 2 AMBELIC
FFEE S+ USHLCL UENZAS M & 2o LIAF 20| LIALE DXR129| 4R, AL 7 YR HE 20| Y= BE 52 AFREHLCE

20| 90| Gl B, 2 ALSH B A 0| 42 DXR10 A|7

s =2 O

£ UB-DXRDHR100{| 2 2|5H= GIAIE 7[2FS 2 LTt

A ANl 5
3| 3
1. or2f 121 20| 25 M5x 10 LIAFE AFR 30 2712) L
S EHHIS U BP0 R RYFHLCH 2t 12 ATO|A
O|ANES BN 5 QA BEJ ML EE B2 HAS
s

DXR12

B DHR, CHR

AT FER0f| U

DXR& DHR ¥ CHRE&
10mmEH  18mm S
2. U B2 ALY B3 YA YL [ Smme7o1E At
[ esroiuse Sl
_ [ KN (N R A B = 2t
3. Mot 24 B U BES ARSI UBHIS HH & ey
S HYO| DHFLICH 0243 34 B2 £ BELTY =dEE
71200l 52 =0] YA YELICH UL 1Y Al 234
AFEHOF B2 H B8 P2 2Tt 2oloHAlL

5. Ao ZtE 2 R AT O} AL FH 7} 5| DA 07
2 2EE 2QULICH HZA EIE12.4NmY LT},

40 | UB-DXRDHR12 UB-DXRDHR10 AFEAE A



tefl 10 20| Am7 R0l A8
P ES AT BHEOf| 2218 LT

¢t RE= AHE9t0

DXR

M5x 16 LEA}

DHR, CHR

M8x35 82 2E

HY EJ=DXRE 2 3NmO|12 DHR ¥ CHRe| &<

12.4NmYL{Ct.

B DXR

M5x16 LEAt

B DHR, CHR

2. otz 1T 20|

o 2 B2l f R0 AO|ME F21E

&8 E M5x10 LIAHE AFESHO]

HHZIgUA BYO R RJIL|CH 2t 12 A

ONEEHHHS KA EETIHYHEEES
L

DXR&

' 10 mm
S

DHR % CHRE

0 18 mm
S

w
(@)
T
)
P
10
e
mjo
[>-
E
Al
10
B[t
i)
ne
H
Pl
o
r
o

£ B2l EEEAESIHUENIIS HH E

DYLCEH U B2l HEH ALO|Of 2f2he| 5

= AFHL S0 AT0|ME YYstL 2E

LICH. Ol2fSt 24 BefjZl B 2 E= T 7| A0

UA EEHLH U BRI DY A RS AtED
£ EF U27H0AH 28ty AL

5.0 2t 2ol ALFH DU Y3 HES AHRSIO]
ATAHE U B2 210 B2SHYAIR.
DXR M8x258Zt 2E, M8 AZE @, M8 Z&l

7t 2 A OHS AT AASE) DA Ot

CHF EIE12.4NmYLCH

UB-DXRDHR12 UB-DXRDHR10 AF2 AT H A | 41



Specifications / FiARFE / %

UB-DXRDHR12 UB-DXRDHR10
Material / #1%} / #438 Steel / 0 / Steel / 0 / #
Net Weight / #E / ;FE 5.9 kg 4.4 kg

* The contents of this manual apply to the latest specifications as of the publishing date. To obtain the latest manual, access the
Yamaha website then download the manual file.

* Der Inhalt dieser Bedienungsanleitung gilt fiir die neuesten technischen Daten zum Zeitpunkt der Veréffentlichung. Um die
neueste Version der Anleitung zu erhalten, rufen Sie die Website von Yamaha auf und laden Sie dann die Datei mit der
Bedienungsanleitung herunter.

*

Le contenu de ce mode d’emploi s’applique aux derniéres caractéristiques techniques connues a la date de publication du
manuel. Pour obtenir la version la plus récente du manuel, accédez au site Web de Yamaha puis téléchargez le fichier du
manuel concerné.

*

El contenido de este manual se aplica a las ultimas especificaciones segun la fecha de publicacién. Para obtener el ultimo
manual, acceda al sitio web de Yamaha y descargue el archivo del manual.

*

O conteudo deste manual se aplica as especificagdes mais recentes a partir da data de publicagéo. Para obter o manual mais
recente, acesse o site da Yamaha e faca o download do arquivo do manual.

* |l contenuto del presente manuale si applica alle ultime specifiche tecniche a partire dalla data di pubblicazione. Per ottenere la
versione piu recente del manuale, accedere al sito Web Yamaha e scaricare il file corrispondente.

B cogep>kaHmu oaHHOro pykoBoAcTBa NpvBeAEHbI NOCNEAHME HA MOMEHT NybMKaumm TEXHUYECKME XapaKTepucTuku. [na
noslydeHuA NocrnegHen Bepcum pyKoBOACTBA NOCeTUTe Beb-canT Kopnopauum Yamaha u 3arpyaute ann ¢ pyKoBoACTBOM.

KNMERWABHNE N HRF BB AME, EE Yamaha Wb FEEMRAEIEA BB,
KMEMARAENARE 2 HAREFRIAVRAMTRE o 55E Yamaha $Hib T ERMARAERRAE -

= HEMOLHE2 LHY A 2| M AFE 7|E22 5t YASH. 2 HFME 7t 22 H Yamaha #AO|EOf| 43 5
SHEIAMMUS HZREROHAR.

*AER. BORRCORFERTHAL VI T &RIE. PYN\D I TYA 5500 RTEXT,

*

*

*

* You can also use the U-bracket along with an optional bracket that is sold separately. Please visit the following Yamaha Pro
Audio site for more information on the products:

*

Der U-Montagebligel kann ebenfalls mit einer optionalen, separat erhéltlichen Halterung eingesetzt werden. Weitere
Informationen finden sich auf der folgenden Yamaha Pro Audio Website:

Vous pouvez aussi utiliser la lyre en combinaison avec un support disponible en option. Veuillez surfer sur le site internet
Yamaha Pro Audio suivant pour plus de renseignements sur ces produits.

*

También puede utilizar la abrazadera en U junto con una abrazadera opcional que se vende por separado. Visite el siguiente
sitio web de Yamaha Pro Audio para mas informacién sobre los productos:

*

Vocé também pode usar o suporte em U junto com um suporte opcional vendido separadamente. Visite o seguinte site da
Yamaha Pro Audio para obter mais informagdes sobre os produtos:

*

E inoltre possibile usare la staffa a U insieme a una staffa opzionale venduta separatamente. Per ulteriori informazioni sui
prodotti, visitare il seguente sito Yamaha Pro Audio:

Bbl moxeTe Takxe ncnonbdoaTb U-06pasHbii KPOHLITEVH BMECTE C AOMOMHUTENbHBIM KPOHLITENHOM, KOTOPbIV NpogaeTcA
oTaenbHo. MNMocetute cneaytowmin cant Yamaha Pro Audio ana nonyyeHna 6onee nogpobHomn nHopmaumm o6 ngenmax:

EFAFBER U RS RS ESESRE, BSERER, HHEUT Yamaha Pro Audio Wik:
TN U BRI S SRR - ARERNESEM » HEHLUT Yamaha Pro Audio 4 -

HOHQl S 4 BT A UAE BN A BT S5 USLICE A B0l T3 AHAI3H % 2= 0f2f Yamaha Pro QL2 AfO|E S
TELTEYEY

*UJSTy MME BIEDA TV av TS50y hEHBPEDEBTERATER Y. RRERITEROVTY/I\ TJOFT—F 1T YA
becBELEEL,

*

*

*

[=] ks [s]

:

¢ https://www.yamahaproaudio.com/

46 | UB-DXRDHR12 UB-DXRDHR10 Owner’s Manual



Dimensions / JMER~T /1 R~

® UB-DXRDHR12

|
(f ® o] T
3.2
—>u<73.2
639
‘ 09~ ¢ 125 213
T e, O\ 5%3 AL T=1 E{}—;f
131 - oMo e - 80
RN - - :
—
085~ 127 70 @ 10
250.2 L 250.2
397
389
0o~ ¢ 15—= ?13
T {%3\‘9 xzj)@ <> b
,,,,, bl
- 2 t e
wsst ‘%1274
125.1 —»h—125.1
m UB-DXRDHR10
|
o o o] t
3.2
32
| 551 »
?9 ‘ 213 —‘
= o \ /@ I o e f——
106 T -—0—- W / B r 56
JL@ o ’ I '
\Rmsto.s 10
+——120—» 32
le———213.8———»le——213.8——»|

346
337

g

ER AR

" 10— | T

+«—120—

le——213.8——»

UB-DXRDHR12 UB-DXRDHR10 Owner’s Manual

®9

9

266.5
356
411

Unit: mm
BARTT © mm

2225
327.5

Unit: mm
BART © mm

47



Yamaha Worldwide Representative Offices

For details on the product(s), contact your nearest Yamaha representative or the authorized distributor, found by accessing the 2D barcode
below.

Wenden Sie sich fir nahere Informationen zu Produkten an eine Yamaha-Vertretung oder einen autorisierten Handler in Ihrer Nahe. Diese
finden Sie mithilfe des unten abgebildeten 2D-Strichodes.

Frangais

Pour obtenir des informations sur le ou les produits, contactez votre représentant ou revendeur agréé Yamaha le plus proche. Vous le trouverez
a l'aide du code-barres 2D ci-dessous.

Para ver informacion detallada sobre el producto, contacte con su representante o distribuidor autorizado Yamaha mas cercano. Lo encontrara
escaneando el siguiente codigo de barras 2D.

Italiano

Per dettagli sui prodotti, contattare il rappresentante Yamaha o il distributore autorizzato piu vicino, che & possibile trovare tramite il codice a
barre 2D in basso.

Portugués

Para mais informagdes sobre o(s) produto(s), fale com seu representante da Yamaha mais préximo ou com o distribuidor autorizado acessando
o cédigo de barras 2D abaixo.

Pycckui

YTo6bI Y3HaTb no,u,po6Hee O npoaykTe (npo,quTax), CBSDXUTECH C GnivxanLmm npencrasuTenem uUnn aBTopu3oBaHHbIM ,ElMCTpM6bIOTOpOM
Yamaha, Bocrnons3oBaBLINCb ABYXMEPHbIM LUTPUXKOOOM HUXKE.

B
MBFEXTmBFAER, BRAELCRENYamahaUREURINEHER, @A THH 2D FEHREIXENRIEHEHTN

.
=8,

FREH
MBEMAVFAEN - FHARRCERERITA Yamaha SHERRIIRELHRE - SRR T AN ZERSEEEMBEER -

oh=0]
HZoil chet Xt et F == o2l 2D HEZE0i| AM| ASH 717H2 Yamaha B HONE L= SA CH2|H0l| 22sHAIL.

https://manual.yamaha.com/pa/address_list/

Head Office/Manufacturer: Yamaha Corporation 10-1, Nakazawa-cho, Chuo-ku, Hamamatsu, 430-8650, Japan PAG1
Importer (European Union): Yamaha Music Europe GmbH Siemensstrasse 22-34, 25462 Rellingen, Germany
Importer (United Kingdom): Yamaha Music Europe GmbH (UK) Sherbourne Drive, Tilbrook, Milton Keynes, MK7 8BL, United Kingdom

Yamaha Pro Audio global website
https://www.yamahaproaudio.com/

Yamaha Downloads

HORERETm (PE) BEAGRLA
LEmEHEZXEEK 18185 =FfIK/E 21
EPRE#HL: 4000517700

AT ML https://www.yamaha.com.cn

I #&: BOREF (M) GRAHE
T ik IHEBMmAMAEELRE 185

https://download.yamaha.com/

© 2024 Yamaha Corporation
Published 01/2024
2024F1R &1T

IPES-AQ

B [VHA5230



	목차
	소개
	안전 주의사항
	패키지 구성
	설치 전 점검
	설치 지침
	Specifications (사양)
	Dimensions (규격)

